= O
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M AHSLD
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o9l D8EX (el @2
SA B HRA(SH) - MRAY - B O & o4 o1& o HIREY
RPN R 7,743,211 7,563,430 179,781

= 819,350 819,350 0

= 45,000 64,000 A 19,000

£ 50,000 0 50,000

= 69,994 71,802 21,808

= 850,784 481,373 369,411

i 5,908,083 6,126,905 A218,822

NEEN L HFH(AZSRN/ =) 1,851,380 1,497,680 353,700

= 630,350 630,350 0

= 69,994 71,802 A 1,808

= 420,790 67,090 353,700

= 730,246 728,438 1,808

nEEN 1,851,380 1,497,680 353,700

= 630,350 630,350 0

&2 69,994 71,802 1,808

S 420,790 67,090 353,700

= 730,246 728,438 1,808

SE2ZAY 682,000 682,000 0

= 69,994 71,802 A 1,808

i 612,006 610,198 1,808

101 el 662,000 662,000 0

&2 69,994 71,802 1,808

i 592,006 590, 198 1,808

04 JIZLMIZ2XSE =+ 662,000 662,000 0

OZHIE=Z A 260,000 260,000 0

—S322AMIY 260,000,000& 260,000 260,000 0

2 69,994 71,802 A~ 1,808

i 190,006 188,198 1,808

Y2z ZT2HE 731,500 724,000 7,500

= 584,510 584,510 0

= 74,590 67,090 7,500

= 72,400 72,400 0

206 M=l 123,240 115,740 7,500

= 115,740 115,740 0

L= 7,500 0 7,500

01 M= bl 123,240 115,740 7,500

OSHIEZ ALY 7,500 0 7,500
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7,500,000& 7,500 0 7,500
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= 262,000 0 262,000
101 o124 160,000 0 160,000
[ 160,000 0 160,000
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OSHIEXAMY 160,000 0 160,000
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< 7,000 0 7,000
01 At 7,000 0 7,000
OZHEXAIY 7,000 0 7,000
—UP Y (HYH) 7,000,0008! 7,000 0 7,000
= 7,000 0 7,000
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[ 3,000 0 3,000
01 oIt 3,000 0 3,000
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— AR (HEH) 3,000,0008! 3,000 0 3,000
< 3,000 0 3,000
206 W24 42,000 0 42,000
< 42,000 0 42,000
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OZHEXAMY 50,000 0 50,000
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01 QIZtR=E X 38,000 0 38,000
OZHIBEAY 38,000 0 38,000
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& S - 5401 534,168 543,168 29,000
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= 25,940 17,940 8,000
= 458,228 501,228 A43,000
AZH A3 534,168 543,168 29,000
= 0 24,000 224,000
£ 50,000 0 50,000
= 25,940 17,940 8,000
= 458,228 501,228 A43,000
AYH 4 236,240 286,240 50,000
307 QI2t0IA 200,000 250,000 A50,000
02 BltAAEX 200,000 250,000 250,000
O XIIALY 200,000 250,000 250,000
—Ex0d 150,000, 000& 150,000 200,000 A50,000
McHAIE XI& 129,200 108,200 21,000
= 21,000 10,000 11,000
= 108,200 98,200 10,000
301 EtEA = 20,000 21,000 A 1,000
10 SEALAHIBAS 0 1,000 A 1,000
OAE &l &l AT 24 o0& 0 1,000 A 1,000
405 AHoHFESHI 22,000 0 22,000
& 11,000 0 11,000
i 11,000 0 11,000
01 ML ESHSHI 22,000 0 22,000
OSHIEZ ALY 22,000 0 22,000
—0I2% A& 22,000, 000& 22,000 0 22,000
= 11,000 0 11,000
= 11,000 0 11,000
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& 0 24,000 A 24,000
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= 0 3,000 23,000
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= 0 24,000 224,000
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= 0 3,000 23,000

w




A BHSL

MM MARS(AY - SAI|H/MATS - DEF})

cel: XNHAMN 245 (&te @2

2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH I & Hns2
01 QItR=2EX 0 30,000 30,000
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—Xely ng8x2 1 0 0 30,000 A30,000
2 0 24,000 224,000
[= 0 3,000 A3,000
= 0 3,000 A3,000
JIOFAIE MHIAMY 50,000 0 50,000
£ 50,000 0 50,000
401 Al&HI LY 50,000 0 50,000
£ 50,000 0 50,000
01 Al&H] 49,460 0 49,460
OJIOFAI R HHIAMY (H3A) 49,460,000 49,460 0 49,460
£ 49,460 0 49,460
03 Al&=2CHHI 540 0 540

OJIOFAI R HHIAIS (881 ™)
50,000,000 *1.08/100 540 0 540
£ 540 0 540
X $2HE (A - EADH /0K LR 413,472 408,785 4,687
= 189,000 189,000 0
[ 58,600 42,600 16,000
= 165,872 177,185 A11,313
HUX AlEEZ 413,472 408,785 4,687
= 189,000 189,000 0
[= 58,600 42,600 16,000
= 165,872 177,185 A11,313
ATHAUHX 22 ALY 394,000 378,000 16,000
= 189,000 189,000 0
[ 57,000 41,000 16,000
= 148,000 148,000 0
401 Al&HIZLLY] 394,000 378,000 16,000
= 189,000 189,000 0
[ 57,000 41,000 16,000
= 148,000 148,000 0
01 Al&H] 391,278 375,278 16,000
O2HIBZ ALY 391,278 375,278 16,000
—FRELONM2O% EHUSE ZEAH AX(

SEA) 391,278,000 391,278 375,278 16,000
= 189,000 189,000 0
[ 57,000 41,000 16,000
= 145,278 145,278 0
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2HnE =& 114,100 190,700 276,600
2HNRNBREAIQF DR 235 94,100 170,700 276,600
202 04 H] 15,000 44,600 229,600
03 2220t 15,000 44,600 229,600
O0l= HAIIREl 25 Y2 0« 0 20,000 220,000
OF= paEs 25 9= 0 0 9,600 29,600
301 Lot A= 79,100 126, 100 A47,000
07 SI2tRI= 2|04t 74,500 104,500 230,000
OYE DIEQAN Rae2 3,500,000& 3,500 7,500 24,000
O0l= HAIIREl 25 ¢ 0 0 20,000 220,000
O== paEs 25 9= 0 0 6,000 A6,000
08 2BIZ=E MY 4,600 21,600 217,000
OL= DIERQA HZ0I2E =& 1,000,000 1,000 6,000 25,000

OL2 DIERA E&M SAHO0 =H
1,600,000 1,600 4,600 23,000
OYe UIEQAN 25 =3 2,000,000 2,000 3,000 21,000
O0l= HAIILRE| =5 0 0 5,000 25,000
O=E= paEs 25 =3 0 0 3,000 A3,000
EMNNE L EXNEX 21,439 74,207 A52,768
SAK2 6,832 10,182 23,350
301 LBt A2 1,000 4,350 23,350
10 SAIAH A2 1,000 4,350 23,350
ORIEXNIE ZSSAIM 255 &I} 0« 0 480 A480
OZAYE =HAE(QC) BHOHA ZDIt 0« 0 720 AT20
OB B0l =& == AES &I} 0 0 750 AT50

Odll2 AIEMNE Y Argerersy| 2Ot

1,000,000 1,000 2,400 A 1,400
EXNLX XA 14,607 64,025 A49,418
207 S RIHEH 582 50,000 A49,418
01 HRRAH 582 50,000 A49,418
OZFH , HE SAE2X SA 29 582,000& 582 50,000 A49,418
NEHH HA(LELNE/NWENE - SRSIIE 4,057,719 4,123,195 AB5,476
= 345,454 353,743 A8,289
= 3,712,265 3,769,452 AB7,187
2 XA 3,537,237 3,602,713 NB5,476
(= 345,454 353,743 18,289
= 3,191,783 3,248,970 A57,187
HALA 2A2A2 X 562,179 627,655 NB5,476
= 191,101 199,390 18,289
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= 6,748 5,700 1,048

= 3,507 3,507 0
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OSHIE XS AY 10,255 9,207 1,048

—HNdnSERAH(SEE) 10,255,000 10,255 9,207 1,048

= 6,748 5,700 1,048

= 3,507 3,507 0

307 2120l & 551,924 618,448 A66,524

= 184,353 193,690 N9,337

= 367,571 424,758 Ab7,187

09 2+gAE2LS 551,924 618,448 A6B6,524

OSHIEXZ ALY 551,924 618,448 N66,524

—SHld 4243 Xe 551,924,000 551,924 618,448 N66,524

< 184,353 193,690 N9,337

= 367,571 424,758 Ab57,187

Nogs SR(LPIIHY/ABAT) 700,114 674,876 25,238

= 45,000 40,000 5,000

= 655,114 634,876 20,238

N EAL ALY 265,582 260,582 5,000

= 45,000 40,000 5,000

7 = 220,582 220,582 0

K271 slEsAg X3 40,000 40,000 0

= 40,000 40,000 0

201 et 24,000 20,000 4,000

= 24,000 20,000 4,000

03 A2 HI 4,000 0 4,000

OZFNSLHSE 3| HALS 4,000 0 4,000

— g9 Egoz =2 4,000,000& 4,000 0 4,000

= 4,000 0 4,000

301 Let2a= 11,400 15,400 A4,000

= 11,400 15,400 24,000

10 SAHAHIEA S 11,400 15,400 A4,000

OZIAXNILEEE| H AL 11,400 15,400 24,000

—XNGLNH 3 AN 24t 11,400,000& 11,400 15,400 A4,000

= 11,400 15,400 A4,000

ANagdgols 2SN 5,000 0 5,000

= 5,000 0 5,000

201 LEH2HH| 5,000 0 5,000

= 5,000 0 5,000

03 A2 HI 5,000 0 5,000

OBXI L H S5 A 5,000 0 5,000

— NGNS 2Y 5,000,000& 5,000 0 5,000

_6_




oF
R’

ok
ol

O]l O | O | © | ©
ol O |l O]l OO O
Sl NN N[N N
MOIPIRIKIKRIKR |
Klo
E
D
ol ST I Nl O |l O
DI NNN] O W Wv
NjJ©o| ¥ |© ©
<t ||l = <
— | O | T |D O
W_| <t | O NN AN
K0
m
ol Al | O] O |0 ©
ol O | — | &N O O
S|~ |0 ©
Ol vl =[x <
D | O] © |1 wuv
< | < | Nl A
3
<
=
70
o
o
o
<
or 3
0 ©
gl m
ol
=
I+
=
= =
Gl . =
5| |3]5]5 2
] I (==
ak | 80 |80 o
N _ | oy fou RO
= aﬁ__.&zozo
R0 w| ol O
. Wl - |
g o | H| & |<
il —1 K0 | ~
T|__4&




